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Convolute ttre'following two continuous time sigpals x,(r) ='s-2tr(r)anA *r(t)= x(t +2),.

Show that if the sampling rate is equal to or greater than twice the highest message frequency,
then the message m(t) eanberecovered.ftom natural s4mpled sigpal by low pass filtering. Sketch
the relevant waveform and spectrum.'

From basics, realize-a constant-K low pass filter to cut-offat t.+t<ltzwith a terminating resistance10.

of 450Q. State the assumptions made.

Part C.

Eac:h full questinn carries L2 marhs.

Montnn 1

11,. Deternrine the conrplox exponential Fourier series expansion of the periodic signal :

lrl.l
r, .lrl.I

(bx5=z0marlG)

(7 marks)

{5 marks)

(9 marks)
(3 marks)

*l--J

lesino: o<o< n
x(e) = I| 0 :. n<0 <2n.

Ar

L2" Find the Fgurior reries co-efficients of pe*i siflmal

(b) What is the fhysical significance of causalitlr of tfl systern ?

Ir
,(r) = {

"10

MoBulr 2

13. (a) Find the Fourier Transform of f (t) = e-aP .

(b) Explain the transmission of rectangular pu'lse through an ideal low pass filter.
Or


